N:o 85. Campement 422.

1908 juin 6.

B=399.7 + §%3; T = + 1°6; D = 22 57 16%0; 1 = 1° 15’ 20",

Objet | Position : Dis_tance Demi- | Réfrac- | Paral-
ﬁg{fﬂ- sf; nl-l:rln_t Chronometre. Lecture du cercle. Moyenne. Niveau. zﬂ?:::vaél: Aiamibtre:!  tinn. lakn
® | C.D.|14%24™ 88|292°32" 0"| 9'50"| 20°55"| 1.8 | 1.8 0"| 68 54 25"/ 15 47" | 1'28"
® » 26 0.20202 5720 |3445| 46 3| 17| 21| — 76832924 — 1 26
® » 28 10.0[2092 4950 |27 40| 3845 | 11| 26| —25 | 6837 O — 127
® » 30 11.2(203 1515 [5245| 4 O | To| 27| —29 | 681149 | — I 25
)G ke 32 96| 61230 |5140| 2 5 | 1.8| I8 o | 67 46 45 — I 23
® > 34 16.0| 68 46 40 |25 20| 36 o | 1.3 | 23| — 17 | 67 20 23 — I 21
© > 36 160| 6749 0|28 0| 3830 | 1.3 | 23| — 17 66 22 53 — 117
© » 38 11.2| 672450 | 4 O| 1425 | L.s| 21| —10 | 65 58 55 — 1 16
© » 40 11.2| 67 0 0[3850| 4925 | 1.4 | 22| — 13 | 653352 | — I 1§
© ) 42 11.2| 66 3525 | 1355| 2440 | 19| 18| + 2 |65 922 | — i 13
® » 44 11.2| 66 41 40 | 20 45| 31 13 | 2.5 | I.a | + 24 | 65 16 17 — 1 14
O) » 46 17.6| 66 15 0 [ 5430 | 445 | 2.6 | 1o | + 27 | 64 49 52 — I 12
5 N L Ol & 48 88|297 0 0|3730| 4845 | 1.2 | 2.2 | —17 | 64 26 52 — I 11
O] » 50 8.0|2972530| 230| 14 O] 1.3| 22| —15 |64 T 35 — I 10
© » 63 ‘132|208 238 r 16 12 8 | 11| 24| —22 | O3 3 34 — I 7
© » 584 0.6/208 48 0 |2550| 3655 | I.o| 2.6 | —27 |62 38 52 — | 15
B = 390.9 + 7°.7: T = + 4°.x; D = 2% g7 16"/5°.
N:o 86. Campement 423, Tarok-shung. 1908 juin 7.
B = 4011+ 19°3; T = + 14°3; D = 2k 57 20%0; I = 1° 15’ 20",
® | C.D.| 1#18”1152(287°25'15"| 3’ O"| 14 8’| 1.2 | 1.8 | —10"| 74 1'22"|1547"| 1'53"
© > 20 11.6(287 050(3830| 4940 | 13| 1.7 | — 7 | 742547 | — 1 56
O] » 22 7.6|286 510|4255| 54 3| 14| 1.6 | — 3 | 75 21 20 — 2 4
® » 24 12.4(28540 0|1740| 2850 | 1.2 | 1.8 | — 10 | 75 46 40 | — 2 8
|Gy G 26 7.6| 773520 |14 10| 2445 | 20| 1o | +17 | 76 O 42 — 1 2 11 |
O, > 28 5.2 77580 03745 4823 | 1.2 | 1.8 | —1I0 | 76 32 53 — 2 1§
O] » 30 10.8| 775230 |31 15| 4153 | To| 20| —17 | 76 26 16 | — 2 14 |
© » 32 136 78.17 O |58 45| 623 | T4 | ¥6|~ 3| 7681 O o 2 18 |
© » 34 10.8| 78 40 30 '19 50| 3010 | 24| 06| +30 | 77 15§20 | — 2 23
O] » 36 11.6] 79 515 |44 O| 5438 | 1.2 | 18| —10 | 7739 8| — 227
® » 38 56| 80 015 |39 0| 4038 | 1.1 | 1.9 | —1I3 78 34 5 et 2 39
® » 40 88| 802430 | 345| 14 8 | 09 | 22| —22 | 78 58 26 — 2 44
D S B A 42 88[282 230 |4030| 5130 | 13| 17| = 71792357 | — 2 §1
® 5 44 8.8|2813845 |16 0| 2723 | 13| 19| = 717048 4| — 257
©) » 46 100|281 4630 |2430| 3530 | 21| Io| + 19 | 79 39 31 — 2 55
© » 48 136(28122 Oo| O O| 11 O| 19| 12| +12 |8 4 8| — | 3 2

B=go13+ 18.3; T = + 12°s.




